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There are 5 liters of juice. My brother drinks 40% on the
first day. Then he drinks 60% of the remaining on the
second day. How many liters does he drink on the second

day?
A.3.8# (3.8L) B.2.7# (2.7L)
C.1.8# (1.8L) D. 4= (4L)
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Which of the following equations has the smallest
solution?

";3=2 B.L+15-20  C.16+8c=64  D. 5u-6=49
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The music program started at 12:05a.m., 1t ended after 5

hours and b5 minutes. What 1s the end time?
A. 5:55p. m. B. 06:00 C.6:00p. m. D. 05:55
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A and B made a total of 328 cakes. The number of cakes
made by B 1s twice that of A and 10 more. How many cakes

have been made by A?
A. 228 B. 106 C. 108 D. 134
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